1. F(z,y) = (z, —y) corresponds to graph IV. In the first quadrant all the vectors have positive z-components and negative

y-components, in the second quadrant all vectors have negative z- and y-components, in the third quadrant all vectors have

negative z-components and positive y-components, and in the fourth quadrant all vectors have positive 2- and y-components.

In addition, the vectors get shorter as we approach the origin.

12. F(z,y) = (y, x — y) corresponds to graph III. All vectors in quadrants I and II have positive z-components while all vectors

13.

14.

in quadrants III and IV have negative z-components. In addition, vectors along the line y = x are horizontal, and vectors get

shorter as we approach the origin.

F(z,y) = (y,y + 2) corresponds to graph I. As in Exercise 12, all vectors in quadrants I and II have positive z-components
while all vectors in quadrants III and IV have negative z-components. Vectors along the line y = —2 are horizontal, and the

vectors are independent of = (vectors along horizontal lines are identical).

F(z,y) = (cos(z + y), z) corresponds to graph II. All vectors in quadrants I and IV have positive y-components while all
vectors in quadrants II and III have negative y-components. Also, the y-components of vectors along any vertical line remain

constant while the z-component oscillates.



